ol
1 Packar
a0

- -

Visit our homepage
for additional support
parker.com/pmde

MSG30-5520-M1/UK

Service/

Spare Parts Manual
Series F12-152,
-162, -182

Effective: February, 2022
Supersedes: May 01, 2021

ENGINEERING YOUR SUCCESS.



MSG30-5520-M1/UK Service/Spare Parts Manual
Splitview F12-152, -162, -182 Series F12

Splitview F12-152, -162, -182

491

250

18 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden



MSG30-5520-M1/UK
Parts specification

Parts specification

Item

110

121

210
221

225
231

233
237
250
260
310
410

430
440
452
460
464
470
476
478
491

Description

End Cap

Valve Plate

Bearing Housing
0O-Ring 118*2,5Vv80
0O-Ring 132*3 V80
Seal Carrier

Shaft Seal 60*80*7
Retaining Ring SGH140
Hex Socket Plug Assy
Hex Socket Plug Assy
Shaft

Cylinder Barrel Assy
Barrel Support

Piston Assy

Ring Gear

Tap Roller Bearing
Spacer Ring

Tap Roller Bearing
Spacer Washer
Retaining Ring SGA70
Hex S Screw M14*40

19

Service/Spare Parts Manual
Series F12

Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden



MSG30-5520-M1/UK
Spare Parts for F12-152/162/182

Service/Spare Parts Manual
Series F12

Spare Parts for F12-152/162/182

Seal Kit Shafts 152/162/182
ltems included 221, 225, 233, 237 /Item 310
Product Part No Shaft Part No Key Part No
F12-152/162/182 3720863 Type K (key) 3720486 3724446*
Type G (key) 3784005 3724446*
Type D (spline) 3720490

Bearing Kit

Type H (spline) 3720458

Gtems included 460, 464, 470,
476, 478

Product
F12-152/162/182

Part No
3724011

Type T (key) 3784016 3724439*
Type S (spline) 3784010
Type F (spline) 3720491

* kit contain 100 pcs

Bearing housing 152/162/182

Repair kit

Items included 121, 410, 440, 491

F12-152 Motor type M
F12-152 Motor type S
F12-182 Motor type M
F12-182 Motor type S
Other kit on request

3724007
3724008
3724009
3724010

ltem 210 A
) Type | (ISO 180 mm) 3720766
Type F (ISO 200 mm) 3720765
Type S (SAE) 3720570
End Cap 152/162/182
/Item 110
Type F 1 1/2” Vertical 3784018

Type D 1 1/4” Horizontal 3783958

Type K1 1/4” Rear 3720302
Type M 1/1/4” Side 3720303
20 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden



MSG30-5520-M1/UK

Tools

Tools

Service/Spare Parts Manual

M6 x 80

Series F12

M16 x 35

Valid for shaft
Type G
Type K
Type N

Type P

M16 x 65

Valid for shaft
Type H
Type Z
Type M

Type D @

5/8-18 UNF 2"

Valid for shaft
Type T

@

5/8-11 UNC 2"

Valid for shaft
Type S
Type F

®

Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




